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GCSE Mathematics

Practice Tests: Set 9
Paper 2H (Calculator)

Time: 1 hour 30 minutes
You should have: Ruler graduated in centimetres and millimetres,

protractor, pair of compasses, pen, HB pencil, eraser, calculator.
Tracing paper may be used.

Instructions

e Use black ink or ball-point pen.

e Fill in the boxes at the top of this page with your name,
centre number and candidate number.

e Answer all questions.

¢ Answer the questions in the spaces provided
— there may be more space than you need.

¢ Calculators may be used.
¢ Diagrams are NOT accurately drawn, unless otherwise indicated.
e You must show all your working out.

Information

e The total mark for this paper is 80
e The marks for each question are shown in brackets
— use this as a guide as to how much time to spend on each question.

Advice

Read each question carefully before you start to answer it,
Keep an eye on the time.

Try to answer every question.

Check your answers if you have time at the end.
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Answer ALL TWENTY FOUR questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

1 x, 10 and y are three integers written in order of size, starting with the smallest integer.
The mean of x, 10 and y is 11
The range of x, 10 and y is 7
Work out the value of x and the value of y.
2o EXEXF 0. = )
-3
az) L +9y+ I ==X3
(-10) 2. J = 2% @
@ﬁ_‘__@ o =2e = X eereeeerriene. e
_ e
C+x_) 3 —_ :C':’, ‘:}_ .............................. e
(Total for Question 1 is 2 marks)
@O X+t F = ZR
‘Ex. = 14
2

A box is put on a table.

pr&SS’ur-L TFormula

The face of the box in contact with the table is in the shape of a rectangle, 2 m by 1.25 m.

The pressure on the table due to the box is 42 newtons/m?

Work out the force exerted by the box on the table.

Arecn = Licwo P Zoaiw 1 AS
(lxw) W
P =w2n m" w2 = 2
P=F ey
ﬂ
(x2.5) losn = F

force
pressure =
area
........................ { Og‘ newtons

(Total for Question 2 is 3 marks)

Edexcel GCSE Mathematics (9-1) Practice Tests Set 9: Paper 2H — Spring 2019



Macn &m\ Crouped fveoyv»emj

The table gives information about the times, in hours, some students spent doing sport
one week.

Time (T hours) Frequency ﬂ/b‘iﬂpﬁu/l,t Fr’\
0<7T<2 5 | S
2<T<4 9 P L
4<T<6 24 5 \20
6<T<8 40 E 7280
8§<T<10 7 9 &3

Calculate an estimate for the mean time these students spent doing sport. ‘ZG a3
Give your answer in hours, correct to 1 decimal place.

Eshimate for moan - p 2y L
=}

= L4Ss
&

= 5.5 hows (1d p)

(Total for Question 3 is 4 marks)
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4 Behnaz makes candles.

She has 6.3 kilograms of wax and uses it all to make candles.
Each candle Behnaz makes uses 210 grams of wax.

Behnaz sells % of the candles for £13 each.
She then reduces this price by 20% and sells the rest of the candles.

Work out the total amount of money Behnaz gets by selling all the candles she made.

Numbe s g
Carddes moole
6 Biepy= 6300 63004+ 2109= 30 candhes

Nuwmeer of* N B
Ues for 1% | 0 < = \2 candheg

f"\mﬂ.ﬂ%@x@ratﬂ'_d £13 xi12 - £1s¢

| € conddLs U-"H—

207, deoreose | K3 -20 7. - EGLD

mahfitj 3@@10@ £0-LO X< | & = £\1%%F. 20

TeAod money £ISE +#£€7.20 = 2B .20
£ B0 ZO i

(Total for Question 4 is 4 marks)
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Anna and Lionel share £675 in the ratio 4 : 5

3
Lionel gives s of his share of the money to his mother.

How much money does Lionel give to his mother?

A: L
(=9)
4: s (x¥)
Lionot = %3‘-)-5'

SR,
L+ = Powis :{6’7—5
| part  =%3s

200335

Z of <2

= g

e —
—

.......................................................

(Total for Question 5 is 3 marks)
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6 (a) Expand and simplify 3(c—7)+23c+4)

&éfax\@\ B-2+ ec+ <

collock | 413
Q-1
(2)
(b) Expand and simplify (x+ 7)(x—2) Ew‘nﬁ \ra oS
( 1,&?—)(1—-2)
Epond | = T2\
cotlock = 2C 4+§PC— 1Y
....... 2 ST Sl
(2)
(¢) Factorise fully —28y* —21y Fector st
Botta = ond o focchers
= 7“3 (W 5 )
........... Folly=3)
(2)
(Total for Question 6 is 6 marks)
Selve EprationS
7  Solve Tx=2 =3x+1 3

Show clear algebraic working.

L= - S+ )
Ly

()| Fx—2 = W ()

@W FA-L AR Y

; -6
(%) < o w=mi e

(Total for Question 7 is 3 marks)
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8  Abelie flew by plane from Dubai to Rome. Z D %
S |

The flight time was 6 hours 42 minutes.
The average speed of the plane was 650 kilometres per hour.

Work out the distance the plane flew.
“Time EYous LLmins = 6:F hows
%?—QJLC\ 6SOLm /la
= SO/ % 6-Fh

= L3S5km

L3Sy

....................................................... kilometres

(Total for Question 8 is 3 marks)

9 Hiran invests 20 000 rupees in an account for 3 years at 1.5% per year compound interest.

Work out the total amount of money in the account at the end of 3 years.

Give your answer to the nearest rupee.
4 v Compaund Inkereat

Shart X mulkiphir” ~ Bad L0000 X \-CJ!‘ST3 = 20913 567%
W\LLUZJPW = H'\-S'VO:I.OLT

N F rugee :Qoqluw@,s

(Total for Question 9 is 3 marks)
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10  From point 4, Stanley walks 200 m due east to point B.
From B, he then walks 160 m due south to point C.

Work out the length of AC.
Give your answer correct to 3 significant figures.

%%m O bmdzt‘_z

63 +00= & A @

20T

B

6Seoo0=C” \\ H ®

~JaNs | 2sB.2..= C @\\[l%"‘
C

(35.&) v =0

...................................................... metres

(Total for Question 10 is 3 marks)
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11 Here is an empty pool in the shape of a cuboid.

The width of the pool is 3 m.
The length of the pool is 12 m.
The top of the pool is 2.5 m above the base of the pool.

Jeb is going to put water in the pool.
The level of the surface of the water will be 60 cm below the top of the pool.

Diagram NOT

2.5m accurately drawn

Water flows into the pool at 400 litres per minute.

1 m?® = 1000 litres

How long will it take to fill the pool to 60 cm below the top of the pool?
Give your answer in hours and minutes.

Vohme neg 40 ol
CD'EDMT- 0w

M = 1000 Ukreg

Tuve Neodaod

Hows ondl minukes

1L

B X 1201 X (2. Sw— O

= A \Lln X |.9m

= 68-Um

ER-4m X 1060 = 6400 Lires

6 kOO [

OO Llnmute

= 13| swnnkes

2 howrs anol S| dMunudes

(Total for Question 11 is 4 marks)
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Diagram NOT
accurately drawn
The diagram shows a regular pentagon, ABCDE, a regular octagon, ABFGHIJK, and an
isosceles triangle, BCF.
Work out the size of angle x. / 3x (€0
oy . a
ARC = 10&8° Intenor an@ao—?, pex\ibedm = S4WO - 0%
> &wI180
~ a . r i o
ABFE = 13S Inlerior m\@uo—g ocxaam = |O%0 = 13S
g

€87 =20 - 1081
- N7

T ~ (=]
RCF + BRFC= 62
BEF = f%}::C

oy A A 8 Sox

%Bcrﬂ'x e clore L tre felt Alaert R afw\wa*
nenol oJ\QUﬂc:g- o~ — SIAQOL pu’qtﬁm: (n—2) %\ &0 N
Qr%\e_.b ovownegd  o— ‘DOuL‘T =2y

Prrgled w o "]'\"\CX\@.L = &0

|sos cold hrvng\e

......................................................

(Total for Question 12 is 4 marks)

10
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13 ABCD is a trapezium.

B 16cm C
] Diagram NOT
x accurately drawn
12.5cm
.
A 24.3cm D

Work out the size of angle x.
Give your answer correct to 1 decimal place.

Twe Shopes

SC/ hC‘ﬁIn-tTe‘/k/

ben G = 2

Swift faa & = 3%.5g 4 160uQ

© ~23. 6

< =90°4+& * = A0° +%%.6
| —1232.¢6 (AP

......................................................

(Total for Question 13 is 4 marks)
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14 Change a speed of 72 kilometres per hour to a speed in metres per second.

F2km
| Wou—

motvres Cricoo?) FLOOOmM

| lhe wur
\hdU = EOr\u}\s ‘—-'-56%2:5
SecerdS. .. (226c0) | = F2000m

SEOOsecorot 4

....................................................... metres per second

(Total for Question 14 is 3 marks)
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A company makes cars.

In 2016, the company made 350 cars.

In the first 6 months of 2017, the company made 25 cars each month.
In the last 6 months of 2017, the company made 45 cars each month.

(a) Work out the percentage increase in the number of cars the company made from
2016 to 2017.

Ceus made Jan - June

6 XS = 150
(frest Goonis)
caus mada Tukj— Dec 6 XuS = 270
(lost Gmenths)
Toted covs

1ISO+1y30 = kO

OADWSQ‘:CO%?\Z“OD _;%% ® oo = QC_‘)"/O

@

The company’s income in 2017 was £500 000 more than the company’s income in 2016.

The company’s income in 2017 was 8% more than the company’s income in 2016.
(b) Work out the company’s income in 2016.

Ir\c_avac&s iN:\QJd: [n[cmasi/, éSDOOCDO = % e’/(.‘:
(= %) Lot T [/,

= 100°/

(x (00) £ 6250000 .

£, 6:150,000

3)
(Total for Question 15 is 7 marks)
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16  The straight line L1 has equation y = 6 — 2x
The straight line Lz is perpendicular to L1 and passes through the point (4, 7)

Find the coordinates of the point where the line L2 crosses the x-axis.

L. fud“‘ey\-r
(tj: mocte )
Mi My == |
\j = -—'—Lx. +C
ok L4
(-2)
Egpretion of Lo
L2 o~ Xx-oxis: (j: o)

-5)
(x2)

M= -2

Ll@'racU-en:t = %

B A RS

T L +C

S c

Y = HFL+S

O = -fi'x_ +5

=T =W (R— 0. s Qo )
0= x (Total for Question 16 is 4 marks)

Lj = '%_i'lf - ka(.—'c"o)

Edexcel GCSE Mathematics (9-1) Practice Tests Set 9: Paper 2H — Spring 2019

14



Degerdak Buerds Prociod vy
ocd = - SR =
g

17 There are 8 counters in a bag. €
There is a number on each counter.

OOOOOOC

Fiona takes at random three of the counters,
She adds the numbers on the three counters to get her total.

Work out the probability that her total is an odd number.
L edd con = mada bd e -Gol\pww‘& comoi nedh ens -
- B &)

(pdd,eadcodd)  Ploomo) = (e Hx)= &

2336
- S 2 o2
(cdd, exven,@en) P oe®) = (%% x =) = e
— = <
enodd, enmn)  pleoc) = (3§ 8) =B
(W;Wrﬁﬁd\ ‘P(E,E,D) = (E‘K%_K%) i o)
33€
o heblufyy = 60 | 2O 4+ B2 4 2o
(ot P <) 3% 5 _——3—5@, e —_—336
o= \SO
NG
——————
\SO '
556

.......................................................

(Total for Question 17 is 4 marks) ‘
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p =84 correct to 2 significant figures.
g = 0.3 correct to 2 significant figures.
t=0.27 correct to 2 significant figures.

Work out the upper bound for the value of a.
Show your working clearly.

Give your answer correct to 1 decimal place.
oS _ ¥ 'uS tmox

xe 2

P Ervor S Y

0= 1 =0-0Ff

Ci/ Evror £ &G.ZS"‘LK% o\ =1L =00F

*c} 1S Qi

o.oof O-ZTSW O-O1=72 = -0

E Evver
0= p-q ‘%0.9’63‘ Eman
Tk
¥ ) b ¥
* Omaxe = Ewc__qw~ Numayedtor 3 vouc rw'seh . Pmos — Dwaun
o o Ty T
£oan Gy = EuS'~E:2S
O Y

— :5:_2 (\dp)

(Total for Question 18 is 3 marks)
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19  Solve the inequality 4x*>—5x—6>0

SOLVE ERuATTEN (Ll-)(. +3)L’JC -—-2) = )
X *F3=0 o X~-2 =0
63)
(=W)
SieAc
bl -5 - 650
cenddusien

.......................................................

(Total for Question 19 is 4 marks)
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20 A 3-D shape consists of a hollow sphere made of metal.

The diagram shows a cross section drawn through the centre, O, of the sphere.

Diagram NOT
accurately drawn

m= |48 \c_J

3
D=2% (_Z-‘C)'\f_cj /Y‘V]

1] \vf' = —?
The internal radius of the sphere is 1.2 m. -
The thickness of the metal is ¢ cm. Viluuwe of spkere = % L
The density of the metal is 2700 kg per m*
The mass of the 3-D shape is 1980 kg.
Work out the value of 7.
Give your answer correct to 2 significant figures.
velume o ackuad el Dens g sevne an he woowy Hvemga
[Aedl hees en mens s c;} G880 w o
has reddus 14 2- 2
L. . 3 i 3
e votunng ‘g g et ]’);GCE 4 Mk —%ﬁ (tzr €)= %Tl( 1:2)
( :
= e g >
M= Dy [UEO = 2300 L%_;?T(f‘ z4E) = £ WL ]
(er }C)CJ) -]C\SC_) = %W(Ilr't)3~%,ﬂ(lz,)5
I OO :
| ’ Ao Mg LT (ltt)
{.Jr'iﬂ(l\z) ) 1280 4 2q(ly = T W(hLtt)
= 5 S
TOO 3
o = XT(12+E)
'?,L’I?ISQ'“M 3
5
( .%') =2 5,0( R~ = Ll ‘2-""{-'—)
£
(:._L\TL—) 1 'qu'b' o vy ﬁ_——k‘ ‘11‘{—‘)
= = -
73\]/)“\/’ (_) ! ’ Zgol TN = 1 & {-£_= ................................ ‘D .Ci({]/\ ......
-1.2) 0.0 .-, = £ (Total for Question 20 is 5 marks)
LM g, .2 P w o,
s - Casy
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21  Express 42x 47 X - J as a single fraction in its simplest form.
3x"4+2x-7 \x-3 2x-5
; o -
ADLUNR e ™
&0 D 2x-8
cress 2(2x-5) 3D
Y ST

= G -1t0 -5+
(B(25c—%)

Ge-3)(2x—3)

7&0—1—::/6&—1 Luf—’?.f = (WVSY(Zxﬁﬂ) _ (_;zf;ff) C?,;L—-SB
SE+T? Wm) (547 &~ )

o= (25ctSY(25~§) Ge—1)
> MPI/‘-% (K) (St y) (x=1) 2 (x=3)(22¥)
| _ ('2}26)(%@5)(3/9/
Sinp ity (concald) (S ( %)6«:3)(1}24
243

(S G

..............................................................................................................

(Total for Question 21 is 4 marks)

TOTAL FOR PAPER IS 80 MARKS
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